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Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

Answer ALL questions. 1
Write your answers on the answer sheet.

Write your Name, Class and Class Number on the answer sheet.

A

You may do your rough work in the blank space of this test booklet and there is
no need to rub it out after the test.

6. The use of calculator is not allowed.
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Note:

Not all diagrams are drawn to scale.

Section Q (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.
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1. Use six of the above number cards to
form the smallest odd number. What
1s this number?

A. 244670
B. 244007
C. 204467
D. 200 447

1. AWM EEPXEHEHFFHR—E
OB BEBELE?

A. 244670
B. 244007
C. 204467
D. 200447

Instalment Plan Number of Instalments| Instalment Amount Processing Fee
pal-i RN HAZL (SRS FEE
A 12 $360 $0
B 24 $178 $150

2. Customers can buy a tablet computer
from a shop according to one of
the above instalment plans. What
is the difference between the total
payments of the plans?

A, $48

B. $§$100
C. §102
D. $§$150

2. FBJE R T RAE W LA S
18 3t
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A. 848

B. $100

C. $102

D. $150
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12. The above figure is an equilateral

NN

triangle. What percentage of the
ot

figure 1s shaded?

A 22%%
B. 30%
C. 33%
D. 33%%

12. LBEA—EFF=48 1273
@ SEEB YT XA ?

22% %

30%
33%

o 0w »

33% %

13. A primary school has 720 students.
340 of them are girls. 35% of the
boys go to school by some kinds of
transportation. How many boys go to
school on foot?

A. 133
B. 247
C. 380
D. 468

13. B2 720 A0 340 A
kA FAETH 3% KRKEL
A+ & ST LENFAR S Y

A7
A. 133
B. 247
C. 380
D. 468

14. The price of a pair of sport shoes
aetende) was reduced by $250. Then they
were sold at $660 with a further 25%

discount. What was the original price

of them?
A. $750
B. $990
C. $1130
D. $1210

14, K ¥EEFAR $250 44 Fr WAk 247
Tl &+ & 172 5660 ¥ 49 AT

%02
A. $750
B.  $990
C. $1130
D. $1210
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19. The above plan is the layout ofa | 19. WM ERZ —Ma@H3GHE » X
Hots shopping centre. If is in the @ 24k @ Wk TR 4

south-east of @, then what is 2 E T ?

south-west of ?

20. The above figure is formed by eight | 20. EBZ & N\MB KX/ N4FE & &k FH

et | Tectangles of the same size. The | pam, \ 3wy m & BE &5 H o9 A R L
perimeter of each rectangle is 42 cm. \_) Adem EEHGARLS Y
What is the perimeter of the figure?

A. 56 cm A. 56 cm

B. 112cm B. 112cm
C. 224cm C. 224cm
D. 336 cm D. 336 cm




Section Q (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

AEB (40 5)

BREFRIIEEASN - ERIBABREER - ASIHE
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31.

A theatre has two floors. The upper
floor has 16 rows, with 25 seats a
row. The lower floor has 30 rows,
with 32 seats a row.

(a) What fraction of the seats is on
the upper floor?
[4 marks]

(b) There are 572 people in the
theatre now. How many rows
can they fill at most? (Give the
answer only.)

[2 marks]

3. RIROGBFEN o/ LR T R
L RA 16 4T EATH JEAL 2518
TRA 3047 0 BATH BAL 3218 o

(a) kB o4 A% B8 1h A 50 A 0
TR
[4 2]

(b) BAER R PNER 572 4 B
WAk % 2™ T % VAT ERAL ?
(RAAgGHEE)

[2 2]

32.

The table below shows the entrance
fees to a swimming pool.

32. T RETEREGIE o

Regular Fee $19.5
—RUE '

Special Fee ~
BEWE

/7

Joey and three members of her
family went to the swimming pool.
Two of them just needed to pay the
special fee. Altogether they paid
$55.6. What is the special fee? (Use
an equation to solve the problem and
show your working.)

[4 marks]

LA 3 AL KA B AR AR 0 B
ol AR AR BT o b 3k
4+ $55.6 0 kb E 2K B 2 %
Y2 (AR TR XEFHE)

[44]
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33. The table below shows Leo’s marks | 33. F & 28 20 4L 69 30 Br R 48
in three mathematics tests. The full 50K B B 0G5 - ER 2 100 2 o
mark of each test was 100.

Test 1 Test 2 Test 3
55\”/%_ EIJ AR — EIJ AR —
Marks
92 81 ?
D ¥
Average Mark i

(a) The third test had two parts. (a) % = KR B 5 R 5L 5 B H 3L
Part 1 had 25 multiple choice G0 IRy RN B
questions of 2 marks each. Leo W24 EF 258 MK
answered 80% of them correctly. HTEEH 0% EEH S
In Part 2 he got 45 marks. How AT B 45 4 0 b E i R R
many marks did he get in the BAs a2 (RASHEEE)
test? (Give the answer only.) [2 7]

[2 marks]

(b) What is the average of Leo’s (b) A8 = R B R BT o2
marks in the three tests? (Give the 20?7 (RASHEAE)
answer only.) 2 4]

[2 marks]
—
(c) The teacher gave Leo the above (c) MARBRMEE BRI » HHET

sticker because his marks were

good. What quadrilateral is there

Hfl#ﬁuj:éﬁ BE 4 AE BB oAb 4K
v R g TG P iE4E vg i

in this sticker? How many pairs HSruugTi? (RAF
of parallel sides does it have? S
(Give the answer only.) [2 7]

[2 marks]
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Pre-Secondary 1 Mathematics
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Mock Paper 7 #EEHRE (L)

Answer Sheet ZRE#

Name
£ (English) (FF3X0)
Class Class No.
R PSR
Total Marks
e

l You only need to write down the letter preceding
(60 marks)  ihe selected answer. (2 marks each)

GDEB (605) BARERLRESRANRYTE . (§H25)

1. 6. 1. 16. 21. 26.
2. 7. 12. 17. 22. 27.
_ 3, 8. 13. 18. 23. 28
= Y
3 1o
S= 4 9 14. 19. 24. 29.
o
5. 10. 15. 20. 25. 30.
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. Working steps must be shown in answering questions Teachers use only
Section Q (40 marks) in this section unless specified otherwise. RITER
(AER (1095) musAlESms  EOASBEES A5 ESE -
Marks
[Gpa)
31 (a).
4
31 (b).
They can fill rows at most.
RE5ALBT AT A o
2
32.
4
33 (a).
He got marks in the test.
Mo fE 13 KRB B AT 2 e
2
33 (b).
The average of
Leo’s marks in the three tests is
PAL 69 = R SR B F 3 o Zat
2
Go On To Next Page
BTEEE
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R R FL $22000 0 FTEK KA L $16 000 ¢+ FEE A KA I
Hr 6% mRIERKKGAFALE M AKAGAFMES V) ?
[2013 & ~ 2008 FrER!]
A. $4680 B. $5040 C. $6360 D. $7320
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HEEHEERT
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